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Figure 2: Left: Magnitude response (in dB) of |Hg(fs£)| (blue) with fs ~ 258 Hz and |Hag(fs£)| (red) with fag ~ 4000 Hz as
a function of frequency. Right: Real part of the impulse response of hg[n] (blue) and hog[n|(red). To align the phase of the
cosine with the peak of the envelope and align the peaks of the envelopes of the impulse responses, a phase correction e2é
was applied to ];[(;Tma(ezi’r£ ) [40]. The variable tj, is the time position of the peak of the envelope in the k-th channel. As a
result, all impulse responses peak at n = 0.



